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QUESTION 1

Compared with STP, RSTP defines the different port states. Which of the following statements regarding discarding and
learning states are true?

A. The port In discarding or learning state does not forward data frames.
B. The port in discarding state does not learn MAC addresses table.

C. The port in discarding or learning state does not learn MAC addresses
D. The port In learning stole docs not learn MAC addresses table.

Correct Answer: C

QUESTION 2

Which of the following statements is false?

A. If the current DR fails, the current BDR automatically becomes a new DR, and a BDR will be elected again.
B. A device with a higher router priority has a higher election priority.

C. When a router with the highest router priority joins an OSPF network, this router will become the new DR.
D. If two devices have the same router priority, the device with a larger router ID has a higher election priority.

Correct Answer: A

QUESTION 3

Which of the following attribute must be carried in an Update message?
A. Local-pref

B. Prefval

C. MED

D. AS-Path

Correct Answer: A

QUESTION 4

As shown in the figure, SWA, SWB, SWC, and SWD run the Rapid Spanning Tree Protocol (RSTP). Which of the
following statements are true?
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SWA (Root Bridge)
GEO/0/1

GEO/0/0O

SwWcC
GEO/0/2

GEO/0/O
GEO/0/1 GEO/0/1

SWB

SWD

A. Once receiving OPOUSs, the edge port re-partlci pates in the calculation of the spanning tree.
B. After a port is Configured as an edge port, the port can quickly enter the Forwarding state.

C. You can enable the edge port on SWD\\'s GEO/0/2 connected to the terminal so that this port can quickly enter the
Forwarding state.

D. You can enable the edge port on SWC\'s GE0/0/2 connected to the terminal so that this port can quickly enter the
forwarding state.

Correct Answer: B

QUESTION 5

In a route-policy, which of the following BGP attributes can be used in apply clauses?
A. MED

B. AS_Path

C. Tag

D. Local-Preference

Correct Answer: ABD
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